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H1 #4 screw, 3/8"

H11 #4 lock washer

91113A005
McMaster-Carr

H16 #4 lock washer

H25 #4 nut

90480A005
McMaster-Carr

H26 #4 nut

90272A108
McMaster-Carr

H2 #4 screw, 3/8"
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H27 #4 screw, 3/8"
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H7 #4 lock washer

H12 #4 nut

H17 insulator

H21 insulating shoulder washer

H3 #4 screw, flat, 1/2"

H8 #4 lock washer

H13 #4 nut

H18 insulator

H22 insulating shoulder washer

H4 #4 screw, flat, 1/2"

H9 #4 lock washer

H14 #4 nut

H19 insulator

H23 insulating shoulder washer

H5 #4 screw, flat, 1/2"

H10 #4 lock washer

H15 #4 nut

H20 insulator

H24 insulating shoulder washer

H6 #4 screw, flat, 1/2"
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H33 #4 screw, 3/8"

H35 #4 lock washer

91113A005
McMaster-Carr

H36 #4 lock washer

H37 #4 nut

90480A005
McMaster-Carr

H38 #4 nut

90272A108
McMaster-Carr

H34 #4 screw, 3/8"
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Digi-Key

PN1 Plug
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Digi-Key

PN2 Plug
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Positve: VTrip = (1M/Rp + 1) / 2
  Negative: VTrip = (1 − 1M/Rn) / 2
  Rp=32.4K: VTrip = +15.9V
  Rn=30.5K: VTrip = −15.9V

D3

D8

10.7K
R2

10n
C2

1K
R4

10n
C17

11.3K
R7

1K
R5

2K
R3

2K
R6

IN4 OUT 5

3

ADJ 1ON/OFF2

GND

U1 LM2941CT

IN3 OUT 5

4

ADJ 1ON/OFF2
GND

U3 LM2991T


